Mathematical tables



Present Value Table

Present value of 1 i.e. $(1 + r)^{-n}$

Where r == discount rate

n = number of periods until payment

Discount rate (r)

| Periods (n) | 1% | 2% | 3% | 4% | 5% | 6% | 7% | 8% | 9% | 10% | |
|----------------|-------|-------|-------|-------|-------|-------|-------|-------|-------|-------|----|
| 1 | 0.990 | 0.980 | 0.971 | 0.962 | 0.952 | 0.943 | 0/935 | 0.926 | 0.917 | 0.909 | 1 |
| 2 | 0.980 | 0-961 | 0.943 | 0/925 | 0.907 | 0.890 | 0.873 | 0.857 | 0.842 | 0.826 | 2 |
| 3 | 0.971 | 0.942 | 0.915 | 0.889 | 0.864 | 0.840 | 0.816 | 0.794 | 0.772 | 0.751 | 3 |
| 4. | 0.961 | 0-924 | 0.888 | 0.855 | 0.823 | 0.792 | 0.763 | 0.735 | 0.708 | 0.683 | 4 |
| 5 | 0.951 | 0.906 | 0.863 | 0.822 | 0.784 | 0.747 | 0.713 | 0.681 | 0.650 | 0.621 | 5 |
| 6 | 0.942 | 0.888 | 0.837 | 0.790 | 0.746 | 0.705 | 0.666 | 0.630 | 0.596 | 0-564 | 6 |
| 7 | 0.933 | 0.871 | 0.813 | 0-760 | 0.711 | 0.665 | 0.623 | 0.583 | 0.547 | 0.513 | 7 |
| 8 | 0.923 | 0.853 | 0.789 | 0.731 | 0.677 | 0.627 | 0.582 | 0.540 | 0.502 | 0.467 | 8 |
| 9 | 0.914 | 0.837 | 0.766 | 0-703 | 0-645 | 0.592 | 0.544 | 0.500 | 0.460 | 0.424 | 9 |
| 10 | 0.905 | 0.820 | 0.744 | 0.676 | 0.614 | 0.558 | 0.508 | 0.463 | 0.422 | 0.386 | 10 |
| 11 | 0.896 | 0.804 | 0.722 | 0-650 | 0-585 | 0.527 | 0-475 | 0.429 | 0.388 | 0.350 | 11 |
| 12 | 0.887 | 0.788 | 0.701 | 0.625 | 0.557 | 0.497 | 0.444 | 0.397 | 0.356 | 0.319 | 12 |
| 13 | 0.879 | 0.773 | 0.681 | 0-601 | 0.530 | 0.469 | 0.415 | 0.368 | 0.326 | 0.290 | 13 |
| 14 | 0.870 | 0.758 | 0.661 | 0.677 | 0.505 | 0.442 | 0.388 | 0.340 | 0.299 | 0.263 | 14 |
| 15 | 0-861 | 0.743 | 0.642 | 0-555 | 0-481 | 0.417 | 0.362 | 0.315 | 0.275 | 0-239 | 15 |
| (n) | 11% | 12% | 13% | 14% | 15% | 16% | 17% | 18% | 19% | 20% | |
| 3 | 0.901 | 0-893 | 0.885 | 0-877 | 0.870 | 0.862 | 0.855 | 0.847 | 0.840 | 0.833 | ļ |
| 2 | 0.812 | 0.797 | 0.783 | 0.769 | 0.756 | 0.743 | 0.731 | 0.718 | 0.706 | 0.694 | 2 |
| 3 | 0.731 | 0.712 | 0.693 | 0.675 | 0.658 | 0.641 | 0.624 | 0.609 | 0.593 | 0.579 | 3 |
| 4. | 0.659 | 0.636 | 0.613 | 0.592 | 0.572 | 0.552 | 0.534 | 0.516 | 0.499 | 0.482 | 4. |
| 5 | 0.593 | 0.567 | 0.543 | 0.519 | 0.497 | 0.476 | 0-456 | 0.437 | 0.419 | 0.402 | 5 |
| 6 | 0.535 | 0/507 | 0.480 | 0.456 | 0.432 | 0.410 | 0/390 | 0.370 | 0.352 | 0/335 | 6 |
| 7 | 0-482 | 0-452 | 0.425 | 0-400 | 0-376 | 0.354 | 0-333 | 0.314 | 0.296 | 0.279 | 7 |
| 8 | 0.434 | 0.404 | 0.376 | 0.351 | 0.327 | 0.305 | 0/285 | 0.266 | 0.249 | 0.233 | 8 |
| 9 | 0.391 | 0.361 | 0.333 | 0.308 | 0.284 | 0.263 | 0.243 | 0.225 | 0.209 | 0.194 | 9 |
| 10 | 0.352 | 0.322 | 0.295 | 0-270 | 0.247 | 0.227 | 0-208 | 0.191 | 0.176 | 0-162 | 10 |
| 1 [| 0.317 | 0.287 | 0.261 | 0.237 | 0.215 | 0.195 | 0.178 | 0.162 | 0.148 | 0/135 | 11 |
| 1.2 | 0.286 | 0.257 | 0.231 | 0.208 | 0-187 | 0.168 | 0.152 | 0.137 | 0.124 | 0.112 | 12 |
| 13 | 0.258 | 0.229 | 0.204 | 0-182 | 0-163 | 0.145 | 0.130 | 0.116 | 0.104 | 0.093 | 13 |
| 14 | 0.232 | 0-205 | 0.181 | 0.160 | 0.141 | 0.125 | 0.111 | 0-099 | 0.088 | 0.078 | 14 |
| 15 | 0·209 | 0.183 | 0.160 | 0.140 | 0.123 | 0.108 | 0.095 | 0.084 | 0.074 | 0.065 | 15 |



Annuity Table

Present value of an annuity of 1 i.e. $\frac{1-(1+r)^{-\alpha}}{r}$

r ≃ discount rate n ≃ number of periods Where

Discount rate (r)

| Periods (n) | 1% | 2% | 3% | 4% | 5% | 6% | 7% | 8% | 9% | 10% | |
|----------------|-------|-------|-------|-------|-------|-------|-------|-------|-------|-------|----|
| 1 | 0/990 | 0.980 | 0.971 | 0-962 | 0.952 | 0-943 | 0-935 | 0-926 | 0.917 | 0.909 | ì |
| 2 | 1.970 | 1.942 | 1.913 | 1.886 | 1.859 | 1.833 | 1.808 | 1.783 | 1.759 | 1.736 | 2 |
| 3 | 2.941 | 2.884 | 2.829 | 2.775 | 2.723 | 2.673 | 2.624 | 2.577 | 2.531 | 2.487 | 3 |
| 4 | 3.902 | 3.808 | 3.717 | 3-630 | 3.546 | 3.465 | 3.387 | 3.312 | 3.240 | 3:170 | 4 |
| 5 | 4-853 | 4.713 | 4-580 | 4-452 | 4-329 | 4-212 | 4-100 | 3-993 | 3-890 | 3.791 | 5 |
| 6 | 5.795 | 5.601 | 5.417 | 5.242 | 5.076 | 4.917 | 4-767 | 4.623 | 4.486 | 4.355 | 6 |
| 7 | 6-728 | 6-472 | 6-230 | 6.002 | 5.786 | 5-582 | 5-389 | 5-206 | 5-033 | 4.868 | 7 |
| 8 | 7:652 | 7-325 | 7.020 | 6.733 | 6.463 | 6-210 | 5-971 | 5.747 | 5.535 | 5.335 | 8 |
| 9 | 8-566 | 8.162 | 7.786 | 7.435 | 7.108 | 6.802 | 6.515 | 6.247 | 5.995 | 5.759 | 9 |
| 10 | 9.471 | 8-983 | 8.530 | 8-111 | 7-722 | 7-360 | 7.024 | 6.710 | 6.418 | 6·145 | 10 |
| 11 | 10.37 | 9-787 | 9-253 | 8-760 | 8-306 | 7-887 | 7-499 | 7-139 | 6-805 | 6.495 | 11 |
| 12 | 11.26 | 10.58 | 9.954 | 9.385 | 8.863 | 8.384 | 7.943 | 7.536 | 7:161 | 6.814 | 12 |
| 13 | 12:13 | 11-35 | 10-63 | 9-986 | 9-394 | 8-853 | 8-358 | 7-904 | 7-487 | 7-103 | 13 |
| 14 | 13-00 | 12-11 | 11:30 | 10.56 | 9-899 | 9-295 | 8-745 | 8-244 | 7-786 | 7.367 | 14 |
| 15 | 13.87 | 12.85 | 11-94 | 11.12 | 10.38 | 9.712 | 9.108 | 8-559 | 8.061 | 7.606 | 15 |
| (n) | 11% | 12% | 13% | 14% | 15% | 16% | 17% | 18% | 19% | 20% | |
| 1 | 0.901 | 0.893 | 0.885 | 0.877 | 0.870 | 0.862 | 0.855 | 0.847 | 0.840 | 0.833 | 1 |
| 2 | 1.713 | 1.690 | 1.568 | 1.647 | 1.626 | 1.605 | 1.585 | 1.566 | 1.547 | 1.528 | 2 |
| 3 | 2-444 | 2-402 | 2-361 | 2-322 | 2-283 | 2-246 | 2-210 | 2-174 | 2-140 | 2:106 | 3 |
| 4 | 3-102 | 3.037 | 2.974 | 2.914 | 2-855 | 2-798 | 2.743 | 2.690 | 2.639 | 2.589 | 4 |
| 5 | 3-696 | 3-605 | 3.517 | 3.433 | 3.362 | 3-274 | 3-199 | 3.127 | 3.058 | 2.991 | 5 |
| 6 | 4.231 | 4:111 | 3.998 | 3.889 | 3.784 | 3-685 | 3.589 | 3.498 | 3.410 | 3.326 | 6 |
| 7 | 4.712 | 4.564 | 4.423 | 4.288 | 4.160 | 4.039 | 3.922 | 3.812 | 3.706 | 3.605 | 7 |
| 8 | 5.146 | 4.968 | 4.799 | 4.639 | 4-487 | 4.344 | 4.207 | 4.078 | 31954 | 3.837 | 8 |
| 9 | 5-537 | 5-328 | 5-132 | 4-946 | 4.772 | 4-607 | 4-451 | 4.303 | 4-163 | 4.031 | 9 |
| 10 | 5.889 | 5.650 | 5-426 | 5-216 | 5-019 | 4.833 | 4.659 | 4-494 | 4-339 | 4.192 | 10 |
| 11 | 6-207 | 5-938 | 5-687 | 5-453 | 5-234 | 5-029 | 4-836 | 4-656 | 4-486 | 4:327 | 11 |
| 12 | 6.492 | 6-194 | 5.918 | 5.660 | 5.421 | 5.197 | 4-988 | 4.793 | 4.611 | 4.439 | 12 |
| 13 | 5.750 | 5.424 | 6.122 | 5.842 | 5-583 | 5.342 | 5.118 | 4.910 | 4:715 | 4.533 | 13 |
| 14 | 6.982 | 6.628 | 6-302 | 6.002 | 5-724 | 5.468 | 5.229 | 5.008 | 4-802 | 4.611 | 14 |
| 15 | 7-191 | 6·811 | 6.462 | 6.142 | 5.847 | 5/575 | 5.324 | 5.092 | 4-876 | 4.675 | 15 |



Review Form & Free Prize Draw – Paper F9 Financial Management (1/10)

All original review forms from the entire BPP range, completed with genuine comments, will be entered into one of two draws on 31 July 2010 and 31 January 2011. The names on the first four forms picked out on each occasion will be sent a cheque for $\mathfrak{L}50$.

| Name: | A | aaress: | | | | | |
|---|-------------------------|--|---|------------|--|--|--|
| How have you used this Kit? (Tick one box only) | | seeing/receivi | t six months do you rec ng any of the following? | | | | |
| ☐ Home study (book only) | | (Tick as many boxes as are relevant) | | | | | |
| On a course: college | | Our advertisement in Student Accountant | | | | | |
| With 'correspondence' package | | Our advertisement in <i>Pass</i> | | | | | |
| Other | | Our advertisement in PQ | | | | | |
| Why did you decide to purchase this (Tick one box only) | Kit? | Our brochure with a letter through the postOur website www.bpp.com | | | | | |
| Have used the complementary Stu | | Which (if any) aspects of our advertising do you find useful? (Tick as many boxes as are relevant) | | | | | |
| Recommendation by friend/colleag | gue | Prices and | Prices and publication dates of new editions | | | | |
| Recommendation by a lecturer at | college | ☐ Information on product content | | | | | |
| Saw advertising | | Facility to order books off-the-page | | | | | |
| Other | | ■ None of the above | | | | | |
| Which BPP products have you used? | | | | | | | |
| Text | Success CD | | Learn Online | | | | |
| Kit 🔽 | i-Learn | | Home Study Package | | | | |
| Passcard | i-Pass | | Home Study PLUS | | | | |
| Your ratings, comments and suggesti | ons would be appreciate | d on the following | areas. | | | | |
| | | Very useful | Useful | Not useful | | | |
| Passing ACCA exams | | | | | | | |
| Passing F9 | | 님 | | | | | |
| Planning your question practice Questions | | | | | | | |
| Top Tips etc in answers | | | | | | | |
| Content and structure of answers | | | | | | | |
| 'Plan of attack' in mock exams | | | | | | | |
| Mock exam answers | | | | | | | |
| Overall opinion of this Kit | Excellent | Good | Adequate | Poor 🗌 | | | |
| Do you intend to continue using BPP | products? | Yes | No 🗌 | | | | |
| | | | | | | | |

Please return this form to: Lesley Buick, ACCA Publishing Manager, BPP Learning Media Ltd, FREEPOST, London, W12 8BR



Review Form & Free Prize Draw (continued)

TELL US WHAT YOU THINK

Please note any further comments and suggestions/errors below.

Free Prize Draw Rules

- 1 Closing date for 31 July 2010 draw is 30 June 2010. Closing date for 31 January 2011 draw is 31 December 2010.
- 2 Restricted to entries with UK and Eire addresses only. BPP employees, their families and business associates are excluded.
- 3 No purchase necessary. Entry forms are available upon request from BPP Learning Media Ltd. No more than one entry per title, per person. Draw restricted to persons aged 16 and over.
- 4 Winners will be notified by post and receive their cheques not later than 6 weeks after the relevant draw date.
- 5 The decision of the promoter in all matters is final and binding. No correspondence will be entered into.